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Question Id : 5799655895 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (1to 10)
Juestion Label - Comprehension

Orce, an ant went to a river to drink water. While bending into the river, it lost its balance and fell into the
river. [t was being carried away by the fast flowing water of the river. He was in great danger of drowning and
dying. & dove, sitting on a nearby tree, saw the ant’s danger and wanted to help it. The dove dropped a leaf
into the water. The ant climbed onto this leaf, and came to the bank safety. From ther, the ant and the dowve
became friends. One hot afternoor, the dove was sleeping on the tree. Then a bird hunter came there and saw
the dove sleeping. He wanted to shoot the dove with his gun. He took a careful aim and was ready to shoot the
dowe. The ant saw that his friend was in danger and quickly went to the hunter and bit him sharply on the
hunter’'s leg. The hunter missed his aim, and the loud noise of the gun awakened the dove from her sleep. She
saw the danger and flew swiftly away to safely. Thus, the ant repaid the dowe for having saved its life.

Sub questions

Question Number : 1 Question Id : 5799655896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhy did the ant go to the river?

Options:

1. % tolook at the water

2. % to take sorme water home
2. ¥ to drink water

4. % tomeet his friend

Question Number : 2 Question Id : 5799655897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Why did the ant fall into the river?

Options:

1. % it lost its balance

2. * theant was careless

2 % the ant wanted to test the depth of the river

4. % the ant could not swim

Question Number : 3 Question Id : 5799655898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Where was the dove when the ant fell into the water?

Options:

1. * the dove was in the air

2. % the dove was on the bank of the river
2. % the dove was away from the river

4. % the dove was on the tree

Question Number : 4 Question Id : 5799655899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

why did the dove drop a leaf into the water?
Options:

1. % it was playing with the leaves

2. ¥ it wanted to save the ant

2 % it wanted to test the speed of the water



4. % it dropped the leaf by mistake

Question Number : 5 Question Id : 5799655900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
How did the ant come back to the bank of the river safely?

Options:

1. # by swimming

2. % by luck

2. ¥ by getting on to the leaf dropped by the dove
4. % by using its intelligence

Question Number : 6 Question Id : 5799655901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What was the dowe doing when the hunter carne there?

Options:

1. ® eating
2. % hiding
= #® flying
4. ¥ sleeping

Question Number : 7 Question Id : 5799655902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What did the hunter use o shoot the dowe?

Options:

1. % arrow
2 ¥ gun

3. % stone

4. % catpult

Question Number : 8 Question Id : 5799655903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What did the ant Ao to save the doyea?

Options:

1. # it awakened the dove

2. ¥ it bit on the leg of the hurnter

Z. % it requested the hunter not to shoot the dove

4. % it took the help of other animals

Question Number : 9 Question Id : 5799655904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wy did the hanter muss his airmn?

Options:
1. ® he was not good at shooting
Z ¥ because of the pain from the ant's bite

= # he was careless



4. % his gun was not good

Question Number : 10 Question Id : 5799655905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

How did the dove awake from its sleep?
Options:

1. * the ant woke it up

2. ¥ by hearing the loud noise of the gun
2. % by hearing the screams of the hunter

4. % by sixth sense

Question Id : 5799655895 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (1to 10)
Juestion Label | Comprehension

S0t BAND FT (eI VA, DI) VL VB VI LT 1Botdod. ?

Ornce, an ant went to a river to drink water. While bending into the river, it lost its balance and fell into the
river. [t was being carried away by the fast flowing water of the river. He was in great danger of drowning and
dying. & dowve, sitting on a nearby tree, saw the ant's danger and wanted to help it. The dove dropped a leaf
into the water. The ant climbed onto this leaf, and came to the bank safety. From thern, the ant and the dowe
became friends. One hot afternoon, the dove was sleeping on the tree. Then a bird hunter came there and saw
the dove sleeping. He wanted to shoot the dove with his gun. He took a careful aim and was ready to shoot the
dowve. The ant saw that his friend was in danger and quickly went to the hunter and bit him sharply on the
hunter’s leg. The hunter missed his airmn, and the loud noise of the gun awakened the dove from her sleep. She
saw the danger and flew swiftly away to safely. Thus, the ant repaid the dove for having saved its life.

Sub questions

Question Number : 1 Question Id : 5799655896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wy did the ant go to the river?

Options:

1. * tolook at the water

2. % to take some water home
2. ¥ to drink water

4. % tomeet his friend

Question Number : 2 Question Id : 5799655897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhy did the ant fall into the river?

Options:

1. % it lost its balance

2. % the ant was careless

3. % the ant wanted to test the depth of the river

4. % the ant could not swim

Question Number : 3 Question Id : 5799655898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhere was the dove when the ant fell into the water?



Options:

1. # the dove was in the air

2. % the dove was on the bank of the river
Z. ® the dove was away from the river

4 % the dove was on the tree

Question Number : 4 Question Id : 5799655899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhy did the dove drop a leaf into the water?

Options:

1. # it was playing with the leaves

2. ¥ it wantad to save the ant

Z. % it wanted to test the speed of the water

4. % it dropped the leaf by mistake

Question Number : 5 Question Id : 5799655900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Howr did the ant come back to the bank of the river safely?

Options:

1. # by swirmming

2. % by luck

3. ¥ by getting on to the leaf dropped by the dove

4. % by using its intelligence

Question Number : 6 Question Id : 5799655901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhat was the dove doing when the hunter carne there?
Options:

1. # eating

2. % hiding

z % flying

4 ¥ sleeping

Question Number : 7 Question Id : 5799655902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhat did the hunter use to shoot the dowe’?

Options:

1. % arrow
2. ¥ gun

% %® stone

4. % catpult

Question Number : 8 Question Id : 5799655903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What did the ant do to sawve the dowve?



Options:

1. * it awakened the dove

2. ¥ it bit on the leg of the hunter

2. * it requested the hunter rot to shoot the dove

4. % it took the help of other animals

Question Number : 9 Question Id : 5799655904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wy did the hanter miss his airn?

Options:

1. # he was not good at shooting

2. ¥ because of the pain from the ant's bite
2. % he was careless

4. # his gun was rnot good

Question Number : 10 Question Id : 5799655905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Howr did the dove awake from its sleep?

Options:

1. # the ant woke it up

Z ¥ by hearing the loud noise of the gun
2. ® by hearing the screams of the hunter

4. % by sixth sense

Sub-Section Number: 2
Sub-Section 1d: 57996570
Question Shuffling Allowed : No

Question Id : 5799655906 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (11to 20)
Cuesticon Label | Comprehension

Read the following passage and fill in the blanks{Codes) with the correct words.

Cmne of the greatest defects of our civilization is that it does not know what to do with its ——---—- (11} Science
has givern us -—-—-—-——-——------ {123 fit for the gods, vet we use them like ————---—- (131 children. For example, we
do not know how to-——————-—- (14) our machines, —————-——-——- (151 were rmade to be man’s servants,; yet he has
BTl 50 ———————=——= {16) on thern that they, are in a fair way to become his —-------- (171 Already, rmost
————————— {18) spend most of their times looking after, and -----------(1%) for machines. And machines are
VALY ———————————— (20 rmAstars.

Sub questions

Question Number : 11 Question Id : 5799655907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAME 11

Options:
1. % food

z ¥ knowledge



3. % people
4. % time

Question Number : 12 Question Id : 5799655908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 12

Options:

1. % power

= % money
3. % comforts

4. * leisyure

Question Number : 13 Question Id : 5799655909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARME 13

Options:

1. * intelligent
2. ® happy

2. ¥ small

4. % pig

Question Number : 14 Question Id : 5799655910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ELAIE 14

Options:

1. ¥ manage
2. % Clean
3. % repair
4. % make

Question Number : 15 Question Id : 5799655911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAIE 15

Options:

1. % Gods

= % Wormen
3. ¥ Children
4. ¥ Machines

Question Number : 16 Question Id : 5799655912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
BELAINE 16

Options:

1. % independent

2. ¥ dependant



3 * free

4. % lazy

Question Number : 17 Question Id : 5799655913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAINE 17

Options:

1. ¥ masters
= % friends
2. # neighbors
4. % children

Question Number : 18 Question Id : 5799655914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARME 15

Options:

1. ® teachers
2. ® lawyers
2. % leaders

4 % men

Question Number : 19 Question Id : 5799655915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ELAIE 19

Options:

1. ¥ waiting

2. % decorating
3. % praising

4. % sgrolding

Question Number : 20 Question Id : 5799655916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAIE 20

Options:

1. % kind

2. % humourous
3. ¥ bad

4. % faithful

Question Id : 5799655906 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (11 to 20)
Cestion Label | Comprehiension



Sots AN FTeIHV WA, PR VoiPNBIL) DBD DI (HBotdod?

one of the greatest defects of our civilization is that it does not know what to do with its -—-—-—- {11}, Science
has given us ————————————- (12) fit for the gods, yet we use them like ———----—- (13) children. For example, we
do not know how to--——-—--—-- (14) our machines. ———------—- (15) were made to be man’s servants; vet he has
STOWTL 50 ——————————— (18) on thern that they, are in a fair way to become his ———-—--—-- (17). Already, most
————————— (18} spend most of their times looking after, and ---------—-- (19 for machines. And machines are
TETY ———————————— (20) masters.

Sub questions

Question Number : 11 Question Id : 5799655907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARME 11

Options:

1. % food

2. ¥ knowledge
2. % people

4. % time

Question Number : 12 Question Id : 5799655908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 12

Options:

1. % power

2. % money
2. % comforts

4. # lejsure

Question Number : 13 Question Id : 5799655909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAINE 13

Options:

1. % intelligent
2. % happy

3. ¥ small

4. % pig

Question Number : 14 Question Id : 5799655910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
BELAIME. 14

Options:

1. ¥ manage
2. % clean
2. % repair

4. % make



Question Number : 15 Question Id : 5799655911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 15

Options:

1. % Gods

Z % Wormen
3. # Children

4. Machines

Question Number : 16 Question Id : 5799655912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 16

Options:

1. ® independent
= ¥ dependant
3. % free

4. % lazy

Question Number : 17 Question Id : 5799655913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ELARME 17

Options:

1. ¥ masters
2. % friends
2. % neighbors

4 % children

Question Number : 18 Question Id : 5799655914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ELANE 15

Options:

1. ® teachers
2. ® lawyers
3. % leaders

4 % men

Question Number : 19 Question Id : 5799655915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAINE 19

Options:

1. % umiting

Z % decorating
3. # praising
4. % gcolding



Question Number : 20 Question Id : 5799655916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 20

Options:

1. % land

2. % humourous
2 % bad

4. * faithful

Sub-Section Number: 3
Sub-Section 1d: 57996571
Question Shuffling Allowed : No

Question Id : 5799655917 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (21 to 30)
Cuesticon Label | Comprehiension

Read the following passage and fill in the blanks(Codes) with the correct words.

I hawve threg ————-—-——--—- {(21) for India. In 2000 years of our history, people from all over the world have come
and ——--—----—- (227 us, captured our lands, conquered cur minds. From Alexander onwards, The Greelks, the
Turks, the Moguls, the Portuguese, the Eritish, the French, the Dutch, all of them came and looted us, took over
what was ours. Yet we hawve not done this to any other nation. We have not ——————-—- (23) anvyone. We have not
————————— {24) their land, their culture, their history and tried to -------- {25) our way of life on thern. Why?
Eecause, we respect the freedom of others.

That is why my first vision is that of FREEDOM. [ believe that India got its first vision of this in 1857, when we
started the war of Independence. It is this freedom that we must protect and ------- (28) and build on. If we
are not free, no one will ------- (271 us.

My second wvision for India is DEVELOPMENT. For fifty years we have been a developing nation. It is tirme we
see ourselves as a developed nation. We are among top & nations of the world in terms of GDP. We have 10
Percent growth rate in most areas. our ——-—------ (28) levels are falling. Our achievernents are being --------
(29 recognized today. Vet we lack the self-confidence to see ourselves as a developed nation, self-reliant and
self-assured. Isn't this incorrect?

I hawve a THIRD wision. India must stand up to the world. Because I believe that, unless India stands up to the
wiorld, no one will respect us, Only strength respects strength. We must be strong not only as a military power
bt also as an -------——- (200 power. Both rmust g0 hand-in-hand.

Sub questions

Question Number : 21 Question Id : 5799655918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
ELAMNE 21

Options:
1. % wvisions

2. % yictuals
3% ywisits

4. % wictims

Question Number : 22 Question Id : 5799655919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



BELANE 22
Options:

1. ® identified
2. % imported
3. ¥ invaded

4. % immigrated

Question Number : 23 Question Id : 5799655920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARME. 23

Options:

1. # congratulated
2. ¥ conquered

% % commented

4 # rriticized

Question Number : 24 Question Id : 5799655921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 24

Options:

1. ® pgranted
2. % graduated
3. % grunted

4. ¥ grabbed

Question Number : 25 Question Id : 5799655922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAINE 25

Options:

1. % entertain
= ¥ enforce
3. % endure

4 # entreat

Question Number : 26 Question Id : 5799655923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
BELAMNE. Z&

Options:

1. # nudge

2. % narrate
2. ¥ nurture

4. % nullify

Question Number : 27 Question Id : 5799655924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33



BELARE. 27
Options:

1. ¥ respect
2. #® ruminate

3. % retort

4. % repudiate

Question Number : 28 Question Id : 5799655925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARME. 25

Options:

1. % prejudice
2. ® property
2. #® postry

4. 9 poverty

Question Number : 29 Question Id : 5799655926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 29

Options:

1. ® gallantly
2. % grievously
2. ¥ globally
4. % grossly

Question Number : 30 Question Id : 5799655927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAINE =0

Options:

1. * elderly

= ¥ econormic

3. # eco-friendly

4. #* glartronic

Question Id : 5799655917 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (21to 30)
Juestion Label - Comprehension



Sots AN FTeIHV WA, PR VoiPNBIL) DBD DI (HBotdod?

I hawe three —————————- {(21) for India. In 2000 years of our history, people from all over the world have come
and ----——-—- (22} us, captured our lands, conquered our minds. From Alexander onwards, The Greeks, the
Turks, the Moguls, the Portuguese, the Eritish, the French, the Dutch, all of them came and looted us, took over
what was ours. Yet we have not done this to any other nation. We have not -——-—------ (23) anvone. We have not
————————— {24) their land, their culture, their history and tried to ——------ {25 our way of life on thern. Why?
Because, we respect the freedom of others.

That is why my first vision is that of FREEDOM. I believe that India got its first vision of this in 1857, when we
started the war of Independence. It is this freedorn that we must protect and ------- (26) and build on. If we
are not free, no one will —-----—- (27)us.

My second wvision for India is DEWVELOPMENT. For fifty years we have been a developing nation. [t is time we
see ourselves as a developed nation. We are among top 5 nations of the world in terms of GDP. We have 10
percent growth rate in most areas. our --------- (28) levels are falling. Our achievernents are being ——------
(29 recognized today. Vet we lack the self-confidence to see ourselves as a developed nation, self-reliant and
self-assured. Isn't this incorrect?

[ hawve a THIRD wision. India must stand up to the world. Because I believe that, unless India stands up to the
wiorld, no one will respect us. Only strength respects strength. We must be strong not only as a rrlitary poswer
but alscoasan ———————- (30 power. Both must 2o hand-in-hand.

Sub questions

Question Number : 21 Question Id : 5799655918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELAMNE 21

Options:

1. % visions
2. % yictuals
3. % yisits

4. ® yictims

Question Number : 22 Question Id : 5799655919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELANE. 22

Options:

1. * identified
2. % imported
2 ¥ invaded

4. ® imrmigrated

Question Number : 23 Question Id : 5799655920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 23

Options:

1. #* congratulated
2. ¥ conquered

2 % comrmented

4. % Criticized



Question Number : 24 Question Id : 5799655921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 24

Options:

1. ® granted
= % graduated
2. * grunted
4. % grabbed

Question Number : 25 Question Id : 5799655922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARME. 25

Options:

1. # entertain
2. ¥ enforce
3. % endure

4 % entreat

Question Number : 26 Question Id : 5799655923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 26

Options:

1. % nudge

2. ® narrate
2. ¥ nurture

4. % nullify

Question Number : 27 Question Id : 5799655924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELANE 27

Options:

1. ¥ respect
= % ruminate
3. % retort

4. % repudiate

Question Number : 28 Question Id : 5799655925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
BELAME Z&

Options:

1. % prejudice
2. ® property
2. #® postry

4. ¥ poverty



Question Number : 29 Question Id : 5799655926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
BELANE 29

Options:

1. # gallantly
2. % grievously
2. ¥ globally

4. % grossly

Question Number : 30 Question Id : 5799655927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ELARE. 20

Options:

1. % elderly

2. ¥ econormic

2 % eco-friendly

4. % eglectronic

Sub-Section Number: 4
Sub-Section Id: 57996572
Question Shuffling Allowed : No

Question Number : 31 Question Id : 5799655928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaning ful paragraph
F: They started bringing up the girl child as their daughter.

& One day a farmer brought home an orphan girl child and gave it to his wife.

E: The wife asked her husband to find a suitable match for their daughter.

S: Soon the girl grew into a beautiful maiden.

Options:

1. % ROPS
2 ¥ QPSR
2. % QRFS
4 % OS5PR

Question Number : 31 Question Id : 5799655928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
S0t BN TS(DWO 28 ©9GD0BRON DT Sy DT DB $0:20065" DSyl ?

P: They started bringing up the girl child as their daughter.

: One day a farmer brought home an orphan girl child and gave it to his wife.
E.: The wife aslked her husband to find a suitable match for their daughter.

S: Soon the girl grew into a beautiful maidern.

Options:

1. % ROQFS



2 ¥ QPSR
3. % QRPS
4 % Q5PR

Question Number : 32 Question Id : 5799655929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaningful paragraph
F: Gopal had to stop his studies and work in the fields.

3 His father fell sick and could not g0 to work in the fields.

E: He used to go to school and enjoved studying and mid day meal there,

5. Gopal was living happily with his parents in a small hut in a village.

Options:

1. ¥ SROP
2. % QPSR
3. % QRPS
4 % OSPR

Question Number : 32 Question Id : 5799655929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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F: Gopal had to stop his studies and work in the fields.

3 His father fell sick and could not g0 to work in the fields.

E: He used to go to school and enjoved studying and mid day meal there.
5. Gopal was living happily with his parents in a small hut in a village.

Options:

1. ¥ SROP
2. % QPSR
2. % QRPS
4 % QS5PR

Question Number : 33 Question Id : 5799655930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaningful paragraph
F: He rmarried Kamila Kaul in 1915,

i In 1905 he was sent to London to study at a school called Harrow.

E: He becarme the first Prime Minister of Independent India on 15 August 1947

5. Jawaharlal Mehra was born in Allahabad o 14 Mov 1889,

Options:

1. % SRCFP

2. % QPSE

3. % QRPS

4 ¥ SOPR

Question Number : 33 Question Id : 5799655930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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F: He married Kamla Kaul in 1915,

3 In 1905 he was sent to London to study at a school called Harrowr

E: He became the first Primme Minister of Independent India on 15 August 1947
5 Jawaharlal Mehru was born in Allahabad on 14 NMov 1589,

Options:

1. % SEOF

2. % QPSE

3. % QRFS

4 % SOPR

Question Number : 34 Question Id : 5799655931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaningful paragraph
F: But the fire service people saved all the people by using helicopters.

Q) Once there was a big fire in a rmulti-storey building.

E: The lift got damaged in the fire.

5. And the people in the building had no way of escape.

Options:

1. ® SROP

2. % QPLR

3. % QRSP

4 % SOPR

Question Number : 34 Question Id : 5799655931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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F: But the fire service people saved all the people by using helicopters.
& Once there was a big fire in a rmulti-storey building.

E: The lift got damaged in the fire.

5. And the people in the building had no way of escape.

Options:

1. % SROP

2. % QPSR

2. ¥ QRSP

4 % SOPR

Question Number : 35 Question Id : 5799655932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaning ful paragraph
F: The moral of the story is that greedy people lose everything.

) He becarme greedy and wanted to tale all the eggs in the ducks worrb.

E: He killed the duck and opened its wornb but found no golden eggs in it

5. Cnce a farmer had a duck that gave him one golden egg every day.

Options:
1. % SRECQF



2. % QPSR
3. % QRPS
4 ¥ SORP

Question Number : 35 Question Id : 5799655932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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F: The moral of the story is that greedy people 10se everything.

2 He becarmne greedy and wanted to take all the eggs in the ducks wornb.
E: He killed the duck and opened its wornb but found no golden eggs in it.
5. Once a farmer had a duck that gave hirm one golden egg every day.

Options:

1. % SROP
2. % QPSR
2. % QRPS
4. ¥ SORF

Question Number : 36 Question Id : 5799655933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaningful paragraph

P: In this way the cat showed her gratitude to her master.

2 He used to give the cat a piece of meat from his own plate.

E: Cne day the cat dropped a mouse into her owrn plate and another into her master's plate.
5. A& gentlernan used to keep two plates on his table, one for hirm and the second for his cat.

Options:

1. 9 SCRP
2. % QPSR
2. % QRPS
4 % SROP

Question Number : 36 Question Id : 5799655933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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F: In this way the cat showed her gratitude to her master.

2 He used to give the cat a piece of meat from his own plate.

E: One day the cat dropped a mouse inito her owrl plate and another into her master's plate.
S: A gentlerman used to keep two plates on his table, one for him and the second for his cat.

Options:

1. ¥ SCRP
2. % QPSH
2. % QRPS
4 % SROF

Question Number : 37 Question Id : 5799655934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Arrange the following senterces in the right order to make a meaningful paragraph
F: If the heart stops we die in about five minutes.

3 The heart supplies blood to our entire body.

E: MNow a days doctors are able to operate and repair hearts.

5: Till recently it was ot possible to operate on a heart that did not work: properly.

Options:

1. % SQRP
2. ¥ QPSR
2. % QRPS
4, % SROP

Question Number : 37 Question Id : 5799655934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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F: If the heart stops we die in about five minutes.

i: The heart supplies blood 1o our entire body.

E: MNow a days doctors are able to operate and repair hearts.

5 Till recently it was rot possible to operate on a heart that did not work: properly.
Options:

1. ® SORP

2. % QPLR

3. % QRPS

4 % SROP

Question Number : 38 Question Id : 5799655935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaningful paragraph
F: He wrote a lot of moral and philosophical poems.

O Yogi Vermana was a great poet and social reformer.

E: His poerns were collected and published by CF Browrl.

5. He lived in the 16th century.

Options:

1. ® SORP

2. % QPSR

2. ¥ Q5PR

4 % SROP

Question Number : 38 Question Id : 5799655935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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F: He wrote a lot of moral and philosophical poems.

O Yogi Vermana was a great poet and social reformer.

E.: His poermns were collected and published by C.P Browrl.
5. He lived in the 16th century.

Options:
1. % SQRF



2. % QPSR
3. ¥ QSPR
4 % SROP

Question Number : 39 Question Id : 5799655936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaning ful paragraph
F: Sunitha had to go to Hyderabad by 2.00 PM train.

Q: But she did not listen to her father’'s advice and started lat at home.

E: On the way to the station the traffic was very heavy and she missed the train.

S: Her father advised her to start at horne early and reach the station in time.

Options:

1. % SQRP
2 ¥ PSOR
3. % QRPS
4 % SROP

Question Number : 39 Question Id : 5799655936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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P: Sunitha had to go to Hyderabad by 2.00 PM train.

< But she did not listen to her father's advice and started lat at home.

E: Cn the way to the station the traffic was very heavy and she missed the train.
5: Her father adwised her to start at home early and reach the station in time.

Options:

1. % SQRP
2 ¥ PSOR
2. % QRPS
4 % SROP

Question Number : 40 Question Id : 5799655937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the following sentences in the right order to make a meaningful paragraph
F: Most of the motor wehicles use fossil fuals,

3 Hence, alternative ways of running motor vehicles must be developed.

E: Today the world cannot be imagined without motor vehicles,

2: But fossil fuels are not infinite and will exhaust very s00r.

Options:

1. % SORF

2. % PLOR

3% RPSO

4 % SROP

Question Number : 40 Question Id : 5799655937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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P: Most of the motor wehicles use fossil fuels.

2 Hence, alternative ways of running motor wehicles must be developed.
E: Today the world cannot be irnagined without motor wehicles.

S: But fossil fuels are not infinite and will exhaust very soon.

Options:

1. % SQRP
2. % PSOR
2. ¥ RP5Q
4 % SROP

Sub-Section Number: 5
Sub-Section 1d: 57996573
Question Shuffling Allowed : No

Question Id : 5799655938 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (41 to 45)
Cesticn Label | Comprehension

Rearrange the given sentences in correct order to make a meaning ful passage and answer the questions.

A& Saleern looked into the house first, and then they both went in.

E. It was very dark inside.

. They followed a path and came to an old empty house.

D. In one of the roorm Ali saw a hole in the floor, with steps leading dowr.

E. Yesterday Ali and Saleern went for a walk in the forest.
Sub questions

Question Number : 41 Question Id : 5799655939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

what is the first sentence of the passage?
Options:

1. % 4

2. W E

=% E

4 % C

Question Number : 42 Question Id : 5799655940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhat is the second sentence of the passage?
Options:

1. % 4

2. ®E



3. %D
4. 9 C

Question Number : 43 Question Id : 5799655941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhat 15 the third sentence of the passage?
Options:

1. %D

2. % E

3.9 A

4 %

Question Number : 44 Question Id : 5799655942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

what is the fourth sentence of the passage?
Options:

1. % E

= 9B

-

4 % C

Question Number : 45 Question Id : 5799655943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhat is the last sentence of the passage?

Options:
1. % E
2. % E
%A
4 ¥ D

Question Id : 5799655938 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (41 to 45)
Cesticn Label | Comprehension
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A Saleern looked into the house first, and then they both went in.

E. It was very dark inside.

. They followed a path and came to an old ermpty house,

D. In one of the room Al saw a hole in the floor, with steps leading dowr.

E. ¥esterday Ali and Saleermn went for a walk in the forest.
Sub questions

Question Number : 41 Question Id : 5799655939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



what is the first sentence of the passage?
Options:
1. % 4
= ¥ E
I % E
4. % C

Question Number : 42 Question Id : 5799655940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
what is the second sentence of the passage?

Options:
1. % 4
2 % E
=2 %D
4 ¥ C

Question Number : 43 Question Id : 5799655941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhat is the third sentence of the passage?

Options:
1. %D
2. % E
3.9 A
4 %

Question Number : 44 Question Id : 5799655942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhat i3 the fourth sentence of the passage?
Options:

1. % E

= ¥ E

Y

4. % C

Question Number : 45 Question Id : 5799655943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
what is the last sentence of the passage?

Options:
1. % E
2. % E
3% A
4 ¥ D

Sub-Section Number: 6



Sub-Section 1d: 57996574
Question Shuffling Allowed : No

Question Id : 5799655944 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (46 to 55)
Cuestion Label © Comprehension

The following passage has not been edited. There is one error in each of these lines. Choose the right option to
identify the incorrect word and to replace it with the correct word in given phrase.

Hobby 15 sormething one do or a subject one studies

a5 an occupation for one’s leisure; hence, it was a favorite engagement.

There are different kind of hobbies: painting, fishing, photography, gardening

and collection of stamps. What is hobby by one person may be profession for another.

A& student having photography for his hobby cannot be happily unless he goes on
excursions and took photographs of beautiful places. The idea of making money

does not corme to his mind. But the professional photographer is to got his livelihood

by his skill. An entertainment cannot be called a hobby, through hobbies and entertainment
can made a person happy and cheerful. Some people, who practice something as hobby

in there youth change it into a profession later in their lives.

Sub questions

Question Number : 46 Question Id : 5799655945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Hobby 15 something one do or a subject one studies

Options:

1. % Error - is, Correction - was
2. % Error - do, Correction - does
= % Error - or, Correction — are

4. % Error - subject , Correction - subjective

Question Number : 47 Question Id : 5799655946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
a5 arn oCoupaticn for one’s leisure; hence, it was a favorite Er1gagerrient.

Options:

1. ® Error -an, Correction - a
2. % Error - for , Correction - by
3. ¥ Error - was , Correction - is

4. % Error - favorite , Correction - favour

Question Number : 48 Question Id : 5799655947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

There are different kind of hobbies: painting, fishing, photography, gardening
Options:

1. % Error - there , Correction - their

2. % FError - are , Correction - were

=. % Error - different , Correction - difference

4 % Error - kind , Correction - kinds

Question Number : 49 Question Id : 5799655948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

and collection of stamps. What is hobby by one person may be profession for another.
Options:

1. ® Error - of , Correction - for

2. ® Error - is , Correction - was

3. % Error - by , Correction - for

4, % Error - another . Corraction - other

Question Number : 50 Question Id : 5799655949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& student having photography for his hobby cannot be happily unless he goes on
Options:

1. % Error - having , Correction - have

2 % Error - his , Correction - their

2. % Error - happily , Correction - happy

4. % Error - goes , Correction - go

Question Number : 51 Question Id : 5799655950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

excursions and took photographs of beautiful places. The idea of making money
Options:

1. % Error - took , Correction - take

2. % Error - of L COTTection - on

2. % Error - idea , Correction - ideal

4. % Error - raking |, Correction - mades

Question Number : 52 Question Id : 5799655951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

does not come to his mind. But the professional photographer is to got his livelihood
Options:

1. % Error - does , Correction - do

2. % Error - to, Correction - for

= % Error - but , Correction - though

4. % Error - got , Correction - get

Question Number : 53 Question Id : 5799655952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

by his skill. An entertainment cannot be called a hobby, through hobbies and entertainmernt
Options:

1. % Error - by , Correction - for

2 % Error - an , Correction - a

% % Error - cannot , Correction - does not

4. % Error - through , Correction - though

Question Number : 54 Question Id : 5799655953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

can made a persorl happy and cheerful. Some people, who practice something as hobby
Options:

1. ¥ Error - made , Correction - make

2. % Error - happy , Correction - happiness

3. % Error - people , Correction - peoples

4. % Error - who . Correction - whorr

Question Number : 55 Question Id : 5799655954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

in there youth change it into a profession later in their lives.
Options:

1. % Error - there , Correction - their

= % Error - vouth , Correction - young

3. % Error - change , Correction - changes

4. % Error - into , Correction - in

Question Id : 5799655944 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (46 to 55)
Cuestion Label © Comprehension
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Hobby is something one do or a subject orie studies

as an occupation for one's leisure; hence, it was a favorite ergagement.

There are different kind of hobhies: painting, fishing, photography, gardening

and collection of stamps. What is hobby by one person may be profession for another.

& student having photography for his hobby cannot be happily unless he goes on
excursions and took photographs of beautiful places. The idea of making money

does not come to his mind. But the professional photographer is to got his livelihood

by his skill. An entertainment cannot be called a hobby, through hobbies and entertainment
can made a person happy and cheerful. Some people, who practice something as hobby

in there youth change it into a profession later in their lives.

Sub questions

Question Number : 46 Question Id : 5799655945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Hobby 15 something one do or a subject one studies

Options:

1. #® Error - is, Correction - was
2. % Error - do, Correction - does
3. % Error - or , Correction - are

4. % Error - subject , Correction - subjective

Question Number : 47 Question Id : 5799655946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
a5 arn oCoupaticn for one’s leisure; hence, it was a favorite Er1gagerrient.



Options:

1. ® Error - an , Correction - a
2 % Error - for , Correction - by
3. % Error - was , Correction - is

4 % Error - favorite , Correction - favour

Question Number : 48 Question Id : 5799655947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
There are different kind of hobbies: painting, fishing, photography, gardening

Options:

1. % Error - there , Correction - their

2. % Error - are , Correction - were

2. ® Error - different , Correction - difference
4 % Error - kind , Correction - kinds

Question Number : 49 Question Id : 5799655948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

and collection of stamps. What is hobby by one person may be profession for another.
Options:

1. ¥ Error - of , Correction - for

2. % Error - is, Correction - was

3. % Error - by, Correction - for

4. ® Error - another , Correction - other

Question Number : 50 Question Id : 5799655949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& student having photography for his hobby cannot be happily unless he goes on
Options:

1. ® Error - having , Correction - have

2 % Error - his , Correction - their

2. ¥ Error - happily , Correction - happy

4. % Error - goes , Correction - go

Question Number : 51 Question Id : 5799655950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
excursions and took photographs of beautiful places. The idea of making money

Options:

1. % Error - took , Correction - take
2. % Error - of , Correction - on

2. ® Error - idea , Correction - ideal

4. % Error - raking |, Correction - made

Question Number : 52 Question Id : 5799655951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
does not come to his mind. But the professional photographer is to got his livelihood



Options:

1. ® Error - does , Correction - do

2 % Error - to, Correction - for

Z. % Error - but, Correction - though

4. % Error - got , Correction - get

Question Number : 53 Question Id : 5799655952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

by his skill. An entertainment cannot be called a hobby, through hobbies and entertainment
Options:

1. % Error - by , Correction - for

2. % Error - an , Correction - a

2. ® Error - cannot , Correction - does not

4. % Error - through , Correction - though

Question Number : 54 Question Id : 5799655953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

can made a person happy and cheerful. Some people, who practice sormething as hobby
Options:

1. % Error - made , Correction - make

2. % Error - happy , Correction - happiness

3. % Error - people , Correction - peoples

4. ® Error - who , Correction - whorm

Question Number : 55 Question Id : 5799655954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

in there youth change it into a profession later in their lives.
Options:

1. % Error - there , Correction - their

2. % Error - vouth , Correction - young

Z. ® Error - change , Correction - changes

4 # Error - into |, Correction - in

Sub-Section Number: 7
Sub-Section 1d: 57996575
Question Shuffling Allowed : No

Question Number : 56 Question Id : 5799655955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Ficle out the word which is not correctly spelled:

Options:

1. ® primary
2. % language
=, ¥ nineth



4 * session

Question Number : 56 Question Id : 5799655955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
2y90h B0 &) DA MBotsed ?

Options:

1. ¥ primary
Z % language
2. ¥ nineth

4. #® gession

Question Number : 57 Question Id : 5799655956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Fick cut the word which is not correctly spelled:
Options:

1. * innovaticon

= ® centre

3. #* climate

4 % calander

Question Number : 57 Question Id : 5799655956 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
0y90h B0 &) DA MBotsod ?

Options:

1. ® innovation
2. % centre

3. % climate

4. % calander

Question Number : 58 Question Id : 5799655957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Pick out the word which is not correctly spelled:
Options:

1. ¥ regestered

= % engineering

3. # participation

4. % technology

Question Number : 58 Question Id : 5799655957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
280f B0 6D DA HBotdol.?

Options:



1. ¥ regestered
2. % engineering
% ¥ participation
4. % technology

Question Number : 59 Question Id : 5799655958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Pick out the word which 15 ot correctly spelled:

Options:

1. ® dynasty
2. ¥ monkies
3. ® monastery

4. % subsequently

Question Number : 59 Question Id : 5799655958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2y80f B0 6D DA HBotdol.?

Options:

1. ¥ dynasty
2. ¥ monkies
% ¥ monastery

4. % subsequently

Question Number : 60 Question Id : 5799655959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Piclk cat the word which 15 not correctly spelled:

Options:

1. # independent
2. % tributary

=, ¥ parlament

4. % gmendment

Question Number : 60 Question Id : 5799655959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2y80f 0000 &0 DA HBotdol.?

Options:

1. # independent
2. % tributary

=, ¥ parlament
4. % amendment

Question Number : 61 Question Id : 5799655960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Pick out the word which is not correctly spelled:
Options:

1. % mountain

2. % expansion

% % valleys

4. ¥ recive

Question Number : 61 Question Id : 5799655960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
280f B0 6D DA HBotdol.?

Options:

1. ¥ mountain
2. % expansion
= % valleys

4. ¥ recive

Question Number : 62 Question Id : 5799655961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Pick out the word which is not correctly spelled:
Options:

1. % Speaker

= % grarmmer

= % completion

4 # divisions

Question Number : 62 Question Id : 5799655961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
2y00f B0 6D DA HBotdod.?

Options:

1. ¥ Speaker

2. ¥ grarmmer
% % completion

4 % divisions

Question Number : 63 Question Id : 5799655962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Pick out the word which is ot correctly spelled:
Options:

1. % apolagy

2. % mammal

3. # clephants

4. % gpecies



Question Number : 63 Question Id : 5799655962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2y90h S0 &) DA MBotiod.?

Options:

1. % apolagy
2. % mammal
% % elephants

4. % gpecies

Question Number : 64 Question Id : 5799655963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Pick out the word which is ot correctly spelled:

Options:

1. ¥ exibition

2. ® provincialism
= % review

4. ¥ regionalism

Question Number : 64 Question Id : 5799655963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2y90h S0 &) DEINDD MBotsed ?

Options:

1. ¥ exibition

2. % provincialism
3. ® review

4. % regionalism

Question Number : 65 Question Id : 5799655964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Fick out the word which is not correctly spelled:
Options:

1. # graduate

2. % argument

2. ¥ [maintenence

4 # incubator

Question Number : 65 Question Id : 5799655964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
2y90h B0 &) DA MBotsed ?

Options:
1. ® graduate

2. % argument



= ¥ maintenence

4 % incubator

Question Number : 66 Question Id : 5799655965 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
1 % amaravathi, the capital of Andhra Pradesh 1s on the banks of the river Krishna.

> % Amaravathi. the capital of Andhra Pradesh is on the banks of the river Krishna.
=  Amaravathi. the capital of Andhra Pradesh. is on the banks of the river Krishna.

, % Amaravathi the capital of Andhra Pradesh. is on the banks of the river Krishna.

Question Number : 66 Question Id : 5799655965 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

DB DT D) SN (L) TS0 Botded.?

Options:
1 # amaravathi, the capital of Andhra Pradesh 1s on the banks of the river Krishna.

- % Amaravathi. the capital of Andhra Pradesh is on the banks of the river Krishna.
= « Amaravathi. the capital of Andhra Pradesh. is on the banks of the river Krishna.

4 % Amaravathi the capital of Andhra Pradesh. is on the banks of the river Krishna.

Question Number : 67 Question Id : 5799655966 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
; % Where do you want to go. asked Mohan.

> % Where do you want to go? asked Mohan.
5 % ~Where do you want to go?” asked Mohan.

i “Where do you want to go?”, asked Mohan.

Question Number : 67 Question Id : 5799655966 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

RBEDR DT VD7) A (L TPS[HA MBotoc.?
Options:

i ® Where do you want to go. asked Mohan.

> % Where do you want to go? asked Mohan.

- % ~Where do you want to go?” asked Mohan.

Yes

Yes

Yes

Yes



4 “Where do yvou want to go?”, asked Mohan.

Question Number : 68 Question Id : 5799655967 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:
Options:

, w» He said. your father is looking very ill today.

> « He said, “Your father is looking very ill today.”

= % He said. “your father i1s looking very ill today.”

4 % Hesaid. “Your father is looking very ill today™

Question Number : 68 Question Id : 5799655967 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

RBEDR DT VT°) DN AL TE[B0A MDBooc.?
Options:

, w He said. your father is looking very ill today.

> « He said. “Your father 1s looking very ill today.”

= % He said. “your father is looking very ill today.”

4 % Hesaid, “Your father 1s looking very ill today™

Question Number : 69 Question Id : 5799655968 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
, % 1have to buy rice vegetables fruit and milk.

> % lhave to buy rice. vegetables. fruit. and milk.
- % 1have to buy rice. vegetables. fruit and milk.

4  Lhave to buy rice. vegetables. fruit and milk.

Question Number : 69 Question Id : 5799655968 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

RBEDR Do VD7) AW (AL TS[BA Moot ?
Options:

, w 1have to buy rice vegetables fruit and milk.

> % Ihave to buy rice. vegetables. fruit. and milk.

- % 1have to buy rice. vegetables. fruit and milk.

Yes

Yes

Yes

Yes



4  Lhave to buy rice. vegetables. fruit and milk.

Question Number : 70 Question Id : 5799655969 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:
Options:
% The teacher said boys finish the home work before going to bed.
1
> % The teacher said. “Boys finish the home work before going to bed.”
-  The teacher said. “Boys. finish the home work before going to bed.”

4 % Theteacher said: “Boys. finish the home work before going to work.”

Question Number : 70 Question Id : 5799655969 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

RBEDR DT VT°) DN AL TE[B0A MDBooc.?
Options:
, % The teacher said boys finish the home work before going to bed.

> % The teacher said. “Boys finish the home work before going to bed.”
-  The teacher said. “Boys. finish the home work before going to bed.”

4 % The teacher said: “Boys. finish the home work before going to work.”

Question Number : 71 Question Id : 5799655970 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
; % lam going to delhi in the first week of august.

> % lam going to Delhi in the first week of august.

5  lam going to Delhi in the first week of August.

4 % 1 am going to Delhi in the first week of August.

Question Number : 71 Question Id : 5799655970 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

RBEDR Do DT7) Qe (AL TS50 DBotoc.?
Options:

, % lam going to delhi in the first week of august.

> % lam going to Delhi in the first week of august.

5 « lam going to Delhi in the first week of August.

Yes

Yes

Yes

Yes



4 % 1 am going to Delhi in the first week of August.

Question Number : 72 Question Id : 5799655971 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
; % How hot it 1s today?

-~ « How hot if is today!
= % How hot it is Today?

4 % How hot it is Today!

Question Number : 72 Question Id : 5799655971 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

RBEDR Do VD7) AW (AL TS[BA Moot ?

Options:
1 % How hot it 1s today?
> « How hot if is today!

- % How hot it is Today?

4 % How hotitis Today!

Question Number : 73 Question Id : 5799655972 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
, ® You prepared well for the exam, Haven’t you.

> % Your prepared well for the exam haven’t you?
= « You prepared well for the exam. haven’t you?

4 % You prepared well for the exam. haven’t you!

Question Number : 73 Question Id : 5799655972 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

DB DT D) SN (L) TS0 Botded.?

Options:
; % You prepared well for the exam. Haven’t you.

> % Your prepared well for the exam haven’t you?

5 « You prepared well for the exam. haven’t you?

Yes

Yes

Yes

Yes



4 % You prepared well for the exam. haven’t you!

Question Number : 74 Question Id : 5799655973 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
1 = Alas, you failed again.

> % Alas. You failed again!
- # Alas, you failed again!

4  Alas! You failed again,

Question Number : 74 Question Id : 5799655973 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

RBEDR Do DT7) Qe (AL TS50 DBotoc.?

Options:

1 = Alas. you failed again.
> % Alas. You failed again!
- % Alas, you failed again!

4  Alas! You failed again.

Question Number : 75 Question Id : 5799655974 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

Identify the sentence that has the right punctuation marks:

Options:
; % Oh! What a fine climate!

> « Oh. what a fine climate!
= % Oh! What a fine climate?

4 % Oh! What a fine climate.

Question Number : 75 Question Id : 5799655974 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

RBEDR DT VD7) A (L TPS[HA MBotoc.?
Options:
1 % Oh! What a fine climate!

> « Oh, what a fine climate!

= % Oh! What a fine climate?

Yes

Yes

Yes

Yes



4 % Oh! What a fine climate.

Question Number : 76 Question Id : 5799655975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Find the rmissing number.
B 1le 327128

Options:
1. % 326
= % CR
3. % 42
4 ¥ E4

Question Number : 76 Question Id : 5799655975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
306 QN Do DS EoEoOmd o2y DE?

8 16 32 7 128
Options:
1. % 36
= % G5B
3. % 42
4 ¥ g4

Question Number : 77 Question Id : 5799655976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Find the rmissing number.
S 15 20357 90 14:

Options:
1. # 50
= % B0
3. ¥ 5o
4 % g5

Question Number : 77 Question Id : 5799655976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

806 QNS Vo e Socoermd 03 DE7?
5 15 20 35 ? 90 145

Options:

1. % 50

2. % B0

3. ¥ 55

4. % g5

Question Number : 78 Question Id : 5799655977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Find the rmissing number.
2,8, 13, 18,7, 28, 35

Options:

1.% 139
= w 20
3% 24
4 % 25

Question Number : 78 Question Id : 5799655977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
300 @END Do 00765 E0EHODD 03 DH?

3, 8,13, 18, 7,28, 33

Options:

1.% 19
= w 20
3. % 24
4.9 25

Question Number : 79 Question Id : 5799655978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rmissing number.
1025112612713 26

Options:

1.% 10
= w 26
3. % 25
4 % 27

Question Number : 79 Question Id : 5799655978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
3006 QN Doy e EoEoID Doay DH7?

10 25 T 26 122 13 28

Options:

1.% 10
> ® 26
3. % 25
4 ¥ 27

Question Number : 80 Question Id : 5799655979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Find the missing number.
98 94 90 567 B0 76
Options:

1. o



2. ¥ 34
3. % 83
4 % 35

Question Number : 80 Question Id : 5799655979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

300 QNS Dopgw SeS" oD 02 DE?

98 94 90 86 7 80 r6

Options:

1. % &2
= ¥ 34
3. % 83
4 % g5

Question Number : 81 Question Id : 5799655980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Find the rmissing number.
143916257 49 64

Options:

1. % 27
> ® 400
3. ¥ 26
4 % &0

Question Number : 81 Question Id : 5799655980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
300 QN Do o6 EoctaeIn 03 DA?

14916 25 7 49 64

Options:

1. % 27
= w 40
3. 36
4 % 50

Question Number : 82 Question Id : 5799655981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rmissing number.
1827ed7 216 343

Options:

1. % 75
2 ¥ 125
3% a0

4 % 150



Question Number : 82 Question Id : 5799655981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
$00 QNS Vo 305" 0D 03 DO7?

18 27 64 ? 216 343

Options:

1. % 75
2 ¥ 125
3. % a0
4 % 150

Question Number : 83 Question Id : 5799655982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rrussing riurmber.
3715317127 255

Options:

1.¥ &3
= w =
3. % B85
4. % 91

Question Number : 83 Question Id : 5799655982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
306 QNS Do 07T BoEDINDD 203 DO?

3 15 .31 % 12T 255

Options:

1.¥v &3
2 ® =
Z. % ES
4 % 91

Question Number : 84 Question Id : 5799655983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Find the rmissing riurmber.
256 128647 165 4

Options:
1.% 20

2. ¢ 32
3 % 24
4. % 43

Question Number : 84 Question Id : 5799655983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



200 QOND DODR) 3ET EOEDDIN o JOH7?
A o) )

256 128 64 7 16 8 4
Options:

1.%  Z0

2. ¥ 32z

3. % 24

4, % 48

Question Number : 85 Question Id : 5799655984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rruissing number.
3124587 768 3072

Options:
1.% g8
= % 172
3. % 128
4. ¥ 192

Question Number : 85 Question Id : 5799655984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

306 ADND VoL DAV EOEIOVVD VoYY IO?
3 12 48 7 768 3072

Options:

1. % a8

> ® 172

3. % 128
4. ¥ 192

Question Number : 86 Question Id : 5799655985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rrissing term.
ACF7TO

Options:
1.9 ]

2. % M
3. % H
4 % K

Question Number : 86 Question Id : 5799655985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
800 QEND LT 05" GoEoenN 9500 DH7?

1 O T SO ©

Options:



1.¥]
2. % M
3. % H
4. % K

Question Number : 87 Question Id : 5799655986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rmussing term.
OMNEYEE

Options:
1. ¥ F
= ¥ H
38 G
4. ® ]

Question Number : 87 Question Id : 5799655986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
306 QNS LT ES” EoEHOND L0 DO?

QNK?7EB

Options:
1. #F
Z ¥ H
38 G
4. % ]

Question Number : 88 Question Id : 5799655987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rrussing term.
AB BA AED DEA PORS 7

Options:

1. % RSQP
z ¥ SRECF
3. % CRPS
4. #® PICR

Question Number : 88 Question Id : 5799655987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
$00 QN LT 05" 0N 9500 DB?

AB BA ABD DBA PQRS 7
Options:

1. % RSQP

Z ¥ SROF

3. % QRPS



4. % PSOR

Question Number : 89 Question Id : 5799655988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Find the rmissing term.
AC BD CE ? EG FH GI

Options:
1. ¥ LF
2 % DE
3. % FD
4 % EH

Question Number : 89 Question Id : 5799655988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
300 QNS LT 17T GoEHND 9500 DHB?

AC BD CE ? EG FH dl

Options:
1. ¥ LF
2 % LE
3. % FD
4 % EH

Question Number : 90 Question Id : 5799655989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Find the rmissing term.
TO?EA

Options:
1. #E
2 ®C
3V
4 % ]

Question Number : 90 Question Id : 5799655989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
306 NS LT 0ES EOEHVRN 9500 DB7?

UO?7EA
Options:
1. *EB
Z ®C
3. ¥
4. %]

Question Number : 91 Question Id : 5799655990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33

There 15 sorm1e relationship between diagrams & & B The sarne relationship s there between C & D Find the
right diagrams for D from the options.

AAL -

A B i D
EBEes=s

1 2 3 4

Options:

1. % 1

o D

3 %3

4 # 4

Question Number : 91 Question Id : 5799655990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A s0bain B eS".méﬂ S0 2.8 PotoGo &od. e3DH08HD C sndoin D SNaly Sy eofd. 902083 S0

QN &5 méoeﬁﬁ D .gﬂm“.ﬂ}é HBFAILTEDD Jord Sotod

NAT

A B C D
EESES
1 2 3 4
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 92 Question Id : 5799655991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Identify the figure which is different from the others.

AlE|Z|N

(1) (2) (3) (4)
Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 92 Question Id : 5799655991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
20057°De5" DODD L0 DT S NA D6

AlE | E|N

(n (2) (3) (4)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 93 Question Id : 5799655992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Identify the figure which is different frorn the others.

\[7]7]=
4

1 2 3
Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 93 Question Id : 5799655992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
208D DOABDD TS0 DATT e B 257

N2 =
4

1 2 3
Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 94 Question Id : 5799655993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



Identify the figure which is different from the others.

DOSIE

1 2

— t=

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 94 Question Id : 5799655993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
2067265 THODD T DT SN o

OeNS

1 2

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 95 Question Id : 5799655994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Howr many triangles are there in the following figure?

Options:
1. % 3
o %4
3. v¥5
4 % g

Question Number : 95 Question Id : 5799655994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



208 e’ &5° I A EFen &) on?

Options:
1. % 3
o % 4
3. ¥5
4 % g

Question Number : 96 Question Id : 5799655995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

which of the following does not belong to the others?
Options:

1. % crange

2. % panana

= % apple

4. ¥ potato

Question Number : 96 Question Id : 5799655995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ZoHareies” HBCDD TrOE DOJOLIO DO?

Options:

L % Do

, % ea000060)

. 23rc:r_iJ“i:uaE

BOTTPYPCII0)
4

Question Number : 97 Question Id : 5799655996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
which of the following does not belong to others:

Options:

1. % mouse

2. % monitor
% % key board
4. ¥ email

Question Number : 97 Question Id : 5799655996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



20HHT7E5" POC2DD TG DOTLID IO?
Options:

£
1_236&3“'0

L aarEed
o> ®

8 &5°
3 %

2 Sa0000ed
4

Question Number : 98 Question Id : 5799655997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
which of the following does not belong to the others?

Options:

1. ®¥ guitar
= ¥ flute

3. % violin

4 % yeena

Question Number : 98 Question Id : 5799655997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

20H0eS” BCRD PO DO OLID DB?
Options:

| % Berb

.

oo
o D030DD

L % e

3

Question Number : 99 Question Id : 5799655998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

which of the following does not belong to the others?
Options:

1. #® Mars

2 % Sun

3. % Pluto

4. % Mercury

Question Number : 99 Question Id : 5799655998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
20HeS" RB02D TOE DO IO DO?

Options:



| % e0TTPOEICD

mmém
= W

aPed”
5 ® =

00 0
4 % bs

Question Number : 100 Question Id : 5799655999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following does not belong to the others?

Options:

1. ® Krishna

= % Godavari

3. # Tungabhadra
4.« Delhi

Question Number : 100 Question Id : 5799655999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

300a7°6365” QBCZDD TP VOTLDD IO?
Options:

S;,E.%

. % Foead

4.¢

Question Number : 101 Question Id : 5799656000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Choose the pair in which the words are differently related.

Options:

1. % dress : cloth
2. # juice : fruit
2. % table : wood
4 9 bird : sky

Question Number : 101 Question Id ;: 5799656000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
800 NS 2B0ES" DT oo SIS IO?

Options:
1. % dress : cloth



2. % juice : fruit
= % table : wood
4. ¥ bird : sky

Question Number : 102 Question 1d : 5799656001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Choose the pair in which the words are differently related.

Options:

1. ¥ America : country
o % Asia continent
% % Hvderabad : city
4. % emploves : office

Question Number : 102 Question Id : 5799656001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

$00 QLN 2e30e5” 20 Doeroto GO A7
Options:

1. % America : country

2. % Asia : continent

= % Hvderabad : city

4. ¥ employee : office

Question Number : 103 Question Id : 5799656002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
You go to MNorth, turn right, then turn right again and then go to the left. In which direction are you now?

Options:
1. ¥ MNorth

2 % Sonth
= ¥ East
4 % west

Question Number : 103 Question Id : 5799656002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
DD 0o Foscroo DDy LEDNE AN, €5 BT m@o DEDDS AN Fodtarco DDy

BADTS IEDNS ABTPD. QDD DD 2 HFeS” &Y ?

Options:

e300
1. %

QL0
o ®

mti):]
3 v



a0

Question Number : 104 Question Id : 5799656003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Arrange the words given below in a meaning ful sequence.
1. Natior, 2. Village, = City, 4. District, G State

Options:

1.¥2 2 4651
= %1365 4,2
3.% 23,4 1,5
4 % 1 2 3 4 5

Question Number : 104 Question Id : 5799656003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
$005 RN DEFOD BGDOSDD D" 900l

1. Nation. 2. Village. 3. City. 4. District. 5. State
Options:

1.2 3 45,1

2. % 1,25 4,2

3. %23 41,5

4. % 1,2, 3 4,E

Question Number : 105 Question Id : 5799656004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& boat can travel with a speed of 13 km/fhr in still water. [f the speed of the stream is 4 kmithr, find the time
taken by the boat to go 68 km downstrearm.

Options:

1. %  2hours
Z %  4hours
3. %  Zhours
4 % 5 hours

Question Number : 105 Question Id : 5799656004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
208 DED BT &) DOES” 13 3.0 /(o . Do DV, T DT Drfo 4 3.0/ (fo. e

3 DED 68 3.20 CUrCo DFEIS Do DEVODO DEIBVOD ?
Options:

2 tfo.en
1 ®

o 4 tjo.en

2 % 3 flo.en



4% 5 fo.en

Question Number : 106 Question Id : 5799656005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A train 150 mlong is running at a speed of 63 kmph. How long does it take to pass a4 man who is running at 8
krraph in the same direction as the train?

Options:

1. %  Eseconds
Z %  1Zseconds
3. ¥ 9seconds

4 % 15 serconds

Question Number : 106 Question Id : 5799656005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
150 0. FeDS Tew 68 3.20 /flo. Do HoIresdTod. Ben DLOALDY HISD 8 3.2 /rlo. Deiody

DONEDERDY 43D Joed men0ioeS” Tre) DLEV0H ?

Options:
580 en
#

12 280 ew
2 ®

9 20 e
oW

15280 en
4 #

Question Number : 107 Question 1d : 5799656006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

A& can do piece of work in 20 days while E alone can do it in 40 days. In how many days can & and E working
together do it?

Options:

1. 17 1|7
2 % 152/7
3. % 1523
4 % 17 2|7

Question Number : 107 Question Id : 5799656006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
- A 208 DI 30 Farerd5® Sotriocd. B 08 DD 40 Bered® SJrcd. A, B e 58 &5 DI D) Feveres®

Eo) oot al3le v s

Options:
1.9 171)7



2. % 152/7
3.% 152(3
4 % 17 2|7

Question Number : 108 Question Id : 5799656007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
What number must be added to &, 16 and & to get an average of 137

Options:

1.v 22
2 % 25
3. % 20
4 % 1B

Question Number : 108 Question Id : 5799656007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
6,16.8 25 Joed DB et 13 Hiod?

Options:

1.v 22
= % 25
3% Z0
4 % 1B

Question Number : 109 Question Id : 5799656008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
What is the ratio of 12 minute to 1 hour ?

Options:
1.% 22
2. % 34
¥ 1|5
4 % %

Question Number : 109 Question Id : 5799656008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
1 (025 12 Dansren Jod Dined?

Options:
1.% 22
2 % 24
z. ¥ 1|5
4 % u

Question Number : 110 Question Id : 5799656009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A& student is ranked 13th from right and Sth from left. How many students are there in total?



Options:

1.% 18
2. % 19
3.9 20
4 % 21

Question Number : 110 Question Id : 5799656009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
28 Degd D0’ LHEDanoc 13 gvaoa‘i". Dot 8o Qosaneﬁ‘ ) €. €908 DAL o

Q035006 aaﬂad:-?

Options:

1.% 18
2. % 139
3. ¥ 20
4. % 21

Question Number : 111 Question Id : 5799656010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A father is 20 years older than his son. He will be three times a5 old as his son after S years. What is the
father's present age?

Options:

1.% =20
Z % 35
2.9 40
4 % 45

Question Number : 111 Question Id : 5799656010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

o, €95 B¢ So8) 30 Dﬂ.:ba DGTCD. DOY SDTS 8D DOy F'EHE S0 D BEL 5 O

€008 . Bog, VOB DALY Dodd?

Options:

1.% =20
2 % 35
3. ¥ 40
4 % 45

Question Number : 112 Question Id : 5799656011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& school has enough food for 400 children for 12 days. How long will the food last if 80 more children join
therm?

Options:
1. % 7days
Z %  g9days



3. ¥ Bdays
4. %  10days

Question Number : 112 Question Id : 5799656011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
28 oo’ 400 DOoDH 12 Berorsd DBHEN0 e300 od. 550 a8 80200l DR Dy S0 es

€553500 JOEFSTRI0 DrD0d?
Options:

7 Geven
1 %

. 9 Heren

8 Haven
oW

10 Hexen
g ®

Question Number : 113 Question 1d : 5799656012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The sum of two consecutive numbers is 55, which is the largest nurnber?

Options:

1.v 28
2 % 34
3. % 3B
4 % 42

Question Number : 113 Question Id : 5799656012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Boch SR Doge ABo 55 e aeede5’ DG Doy D57

Options:

1.v 28
2 % 34
Z. % 2B
4 % 42

Question Number : 114 Question Id ;: 5799656013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Five times an unknown number is & less than 50, What is the unlmown numtber?

Options:
1.% 13
2% g
3. % 17

4 % 22



Question Number : 114 Question Id : 5799656013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2,8 203 D Ben Y 96 50 Lotl 5 By . e5 Doy A7

Options:

1.% 13
z ¥ 9
3. % 17
4 % 22

Question Number : 115 Question Id : 5799656014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If the fractions 8/5, 7/2, 9/5, 54, 4/5 are arranged in descending order of their values, which one will be
fourth?

Options:

1. % g5
= ® 72
2% Si4
4 % 4|5

Question Number : 115 Question 1d : 5799656014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Dyen 8/5,7/2,5/4, 4/5 oo 9550 23763 Ea00e5” ea0BR), DD Treris AR DB eaEodd?

Options:

1. % g5
= ® 72
2% Si4
4 % 4|5

Question Number : 116 Question Id : 5799656015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhat is 50% of 40% of BEs. 32,4507

Options:

1.% Rs 830
2 % Rs530
3. % RsEB70
4 % Rs570

Question Number : 116 Question Id ;: 5799656015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
dr 3,450 &° 407 c30g) 507 oes ?

Options:
1. ¥ Rs 530



2. % RsS580
3. % ERs670
4 % RsS570

Question Number : 117 Question Id : 5799656016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
It takes to 5 minutes to cook 5 potatoes. How minutes are needed to cooke 10 potatoes?

Options:

1.¥ &
2 % 2
3. % 25
4 % 50

Question Number : 117 Question Id : 5799656016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

L edorPwecidoaIea) E&S’u}eﬁ}mﬁé 5§ Dawared oceod. 98 10 exormwrconea ec;iébegc:“aé .D:i}:l

Daarel) ot ?

Options:

1.¥ 5§
= w2
3. % 25
4. % 50

Question Number : 118 Question Id : 5799656017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which one of the following is not a prime number?

Options:

1.% =1
2 ¥ g1
z % B1
4 % 71

Question Number : 118 Question Id : 5799656017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

200" DE DEED Qo SC?

Options:

1.% 321
= ¥ 91
3. % B1
4 % 71

Question Number : 119 Question Id : 5799656018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



A shoplkeeper gets 10% profit on buying and selling. What is the total percentage of his profit?

Options:

1.% 20
> ® 22
3¢ 21
4 ® 22

Question Number : 119 Question Id : 5799656018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

28 QOSTEFTEIL 905D, E0f% o0 107 erdo 500, 969D 2000 eres F°eho Joeh?

Options:

1.% 20
2 % 22
¥ 21
4 % 22

Question Number : 120 Question Id : 5799656019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In1 an exarmination one student answered wrorngly double the guestions he answered correctly. Total questions
he answered is 43. How many questions did he answer correctly?

Options:

1.v 18
2. % 12
3. % 18
4 % 24

Question Number : 120 Question Id : 5799656019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33

208 DOLES” g 0 R0 VAFTTRTOD) OD0DTT GaY)y RAFTIPLD JF-cD. D dwdo 48

RETEIPPD JPFRCD. L9000 IR D) DATTRTED DO T ?

Options:

1. 16
= w12
3. % 18
4. % 24

Question Number : 121 Question Id : 5799656020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If an object travels at five feet per second, how many feet does it travel in one hour?

Options:
1. % =18
= = 1300

3. % 3000



4 % 18000

Question Number : 121 Question 1d : 5799656020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
2,8 D) DSDL DED eaEN D DOIFEID , 28 ok’ ead D) DD DELEOD?

Options:

1. % =20

= % 1800
3. % 2000
4 % 18000

Question Number : 122 Question 1d : 5799656021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Find the rmissing number.

2857
Options:
1.% 20
2 % 25
Z % 40
4 & 125

Question Number : 122 Question Id : 5799656021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
800 NS ’mm&o@{' 00D 03 DE7?

2B 522
Options:
1.% Z0
= % 25
3% 40
4.9 125

Question Number : 123 Question Id : 5799656022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Three nurmbers are in the ratio 4 ¢ 5 6 and their average is 25, The largest number is

Options:

1. % 40
= % B0
3% 20
4 % B0

Question Number : 123 Question 1d : 5799656022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



DUPED DofR) Dy 4:5:6 2BAT T DD 25. TS DG o] AT

Options:

1. % 40
= % B0
3. 30
4 % B0

Question Number : 124 Question 1d : 5799656023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
A& father said his son , "I was as old as you are at present at the time of your birth. " If the father's age is 38
now, the son's age S years back was .

Options:

1.v 14
2 % 33
z % 13
4 % 3B

Question Number : 124 Question 1d : 5799656023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

2,8 306, 6 FeotHd " R0g DBV T DAY FR)YED = DOIOYOS” €92 e (. oG

DOTRY @EDNED 38 i?)m_a e20008% DBY S0 T DAY Jotd?

Options:

1. 14
= % 23
3 % 13
4. % 33

Question Number : 125 Question Id : 5799656024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& TrAn wants to reach a window which is 40 feet above the ground. The distance from the foot of the ladder to
the wall is 9 feet. How long should the ladder e 7

Options:

1.% 20
= ¥ 41
3. % 45
4 % 48

Question Number : 125 Question Id : 5799656024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
28 918 Dol 40 MO IS &5 3H3 omEard. DB S0 o FEDH 9 e

BPC0 G0l DBV s Doeh?

Options:



1. % 30

2. ¢ 41
. % 45
4. % 48

Question Number : 126 Question Id : 5799656025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Ev selling 45 lemons for Bs 40, a man loses 20 % How many should he sell for s 24 to gain 20 % in the
transaction 7

Options:

1.% 18
= % 20
3. 1B
4. % 2z

Question Number : 126 Question Id : 5799656025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
45 davysroos .40 § DD 207 S0 HDod. D) D) SToDORD (.24 D) d 207

erdio anodd?

Options:

1.% 18
2 % Z0
z. ¥ 18
4 % 22

Question Number : 127 Question Id : 5799656026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

The total of the ages of Arnar, Akbar and Anthony is 80 yvears. What was the total of their ages three yvears ago
7

Options:
1.9 71 vears

2. ® 72 vears
3. % 74 vyears
4. ® 77 vears

Question Number : 127 Question Id : 5799656026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
€906, 9576, €908 D) DO B0 80 IFVy. AIPET EB0 0 DAL B0 Joed?

Options:
1.9 71 vears

= ® 72 vears
3. ® 74 vyears
4 #® 77 years



Question Number : 128 Question Id : 5799656027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& shepherd had 17 sheep. All but nine died. How many was he left with ?
Options:

1. %32

z ¥ 9

3. % 17

4. % Nil

Question Number : 128 Question 1d : 5799656027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
28 g 5700aQ 17 e ey ow. TJ°e%5" FI) 6 S e:)bi Y airown. IGHC D) oL

a0feronn?
Options:

1. %8

2 ¥ 9

3% 17

4 % Nil

Question Number : 129 Question 1d : 5799656028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Today is Tharun's birthday. COne year, from today he will be twice as 0ld as he was 12 years ago. How old is
Tharun today 7

Options:
1. % 20

2. ¥ 25
3. % 22
4 % 27

Question Number : 129 Question Id : 5799656028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
QI ST 2O Ber. 28 R0DB00 BDTB 93D HoBRAY 12 T 96D DOTRNYE B0

08000, e mmm;) "é:!”f-.‘)_);)(i..‘l Doy ?

Options:
1. % 20

2. ¥ 25
3. % 22
4. % 27

Question Number : 130 Question Id : 5799656029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



A farmer built a fence around his square plot. He used 27 fence poles on each side of the square. How many
poles did he need altogether ?

Options:
1. % 100
= ¥ 104
3. % 108
4. % 98

Question Number : 130 Question Id : 5799656029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
208 BB D HEDSBOY 5 QP LoD DWLITP) . 90 2.8) & DD 27 Hozren Jered.

RIS QB0 D) YOLPED IDCITT0?

Options:
1. % 100
= ¥ 104
3. % 108
4, % 93

Question Number : 131 Question Id : 5799656030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
& Nawker purchased oranges at the rate of 4 oranges per rupee, but he sells at the rate of 5 oranges per rupee.
What 15 his 10357

Options:

1. % 15 Percent
= % 20 Percent
3. % 25 Percent
4. % 50 Percent

Question Number : 131 Question Id : 5799656030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
28 EJWQ P_‘)?f)_)éﬂ‘j{i.} e Trbo@ DD m%"&%ﬁb ar. 1 S’@hé ?a"lm. 50 5 DD aﬁbsheﬁ
araron DN €907, €. WRDYED 9IS DD Do Joed?

Options:
1. # 15 Percent

2. % 20 Percent
3. % 25 Percent
4. % 50 Percent

Question Number : 132 Question Id : 5799656031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
A pineapple costs RS, 7 each. & watermelon costs Es. & each. X spends Es. 26 on these fruits. The numter of
pineapples purchased is———-

Options:



1. %2
2. ¥ 4
3. %3

4. % Data inadequate

Question Number : 132 Question Id : 5799656031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

28 DTS GO0 AF.7. QDS (6 dr.5. X 677,38 & DFD ENDEFED. e ') prrad e
Jhl?
Options:
1. %2
o V4
3. %3
4 % PAErCo Sfidod S

Question Number : 133 Question Id : 5799656032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

& group of 1200 persons consisting of captains and soldiers is travelling in a train. For every 15 soldiers there
is one captain. The number of captains in the group is---

Options:
1. % 70
=z % B0
3. ¥ 75
4, % 35

Question Number : 133 Question Id : 5799656032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
520 e, PADXD &) 12000 000 D0 2.8 Tees” DHWF0D. DA 15 00d PIDOLD 28 TRD

ETY . e a0 SN e Jodiaod?

Options:
1. % 70

2. % 30
3. ¥ 75
4. % 35

Question Number : 134 Question Id : 5799656033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Find the number which when added to itself 13 times, gives 112

Options:
1. ® 5
> ® &

3. %7



4 ¥ 38

Question Number : 134 Question 1d : 5799656033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
208 0D TPID 133 $ODD 112 H0d. €3 o)y IB?

Options:
1. % 5§
= w 23
3. %7
4 ¥ 3

Question Number : 135 Question Id : 5799656034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

A& wormarn introduces a man as the son of the brother of her mother. How is the man related to the worman?
Options:

1. * uncle

2. ® grandson

2. ¥ cousin

4. % nephew

Question Number : 135 Question 1d : 5799656034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
208 AT 28 HED 8D B s, FEMD HAFDED €D HHB0T0 FV0B. €5 HF &3 T

DaeNEFEE) ?

Options:

mm.ﬁé

1 %

DI

€30
i‘n&‘)gpm

Question Number : 136 Question Id ;: 5799656035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Pointing to a photograph, a man said, “I have no brothers or sisters. But that man's father is my father's son.”
Whose photograph is it?

Options:

1. % his own

2. % his brother’s



= % his son's
4. % his father's

Question Number : 136 Question Id : 5799656035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
208 T AFHBF 2.8 F T ) SN 0y, @98 ITTO SM. =D B Sof, T Bogd
SHAFHED” ) . QoBS &3 TS ID0E?

Options:

ea6 e DD
1. ®

. 90D FoLid

e263) 550
3 ¥

 e9e9) o
4 % 2

Question Number : 137 Question 1d : 5799656036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Pointing towards a person, a man said to a woman, “His mother is the only daughter of your father ” How is
the worran related to that person?

Options:

1. % daughter
2. % wife

3. % sister

4 ¥ mother

Question Number : 137 Question Id : 5799656036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
208 13 BT 2EB aFFE e B8 D Bodd IFTE DT ) €O. €5 HIES, AT

DaeNEod?

Options:

Question Number : 138 Question Id : 5799656037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Anil's place in a row is 10th from the right and 14th from the left. How many people are there in that row?



Options:
1. % 24
2 ¥ 23
3. % 2%
4 % zg

Question Number : 138 Question 1d : 5799656037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
28 DD e9De5 LHEDDE 10, IEuDinnod 140 gﬂaoej“ ET) €. DIVES” DB JoBdod

Eﬂ“‘}dd_‘}.

Options:
1. % 24
= W 23
3. % 25
4. % 28

Question Number : 139 Question Id : 5799656038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Sita’s place is in a row is 16th from both the left and the right. How many people are there in that row?
Options:

1.¥ 21

= ® 33

3. % 32

4. % Data not sufficient

Question Number : 139 Question 1d : 5799656038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

2 305 D6 HA, DEaVDN® ol 16 gv;:meﬁ";& €08, HWVES” Ao JoBd e I7?

Options:

1.‘!,31

33

2 ®

32
T

N ST DO

Question Number : 140 Question Id ;: 5799656039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Cmne morning Rama and Krishna were sitting face to face and talking to each other. If Krishna's shadow was
exactly to the left of Rama, which direction was Rama facing?

Options:
1. # East



2. % west
= ¥ IMNorth
4. ® Sonuth

Question Number : 140 Question Id : 5799656039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
28 e 050500 T, £)f) DEOBEOETT S0 UPEIPCOE0LDT) M. £)5) DE T2 DO IEDDDD €0t
oD D B35 ErdyDed) e ?

Options:
@J"’{i:-:j
1. %

DEGC
o %

63060
3 ¢

G260
g ®

Question Number : 141 Question Id : 5799656040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Ir1 a certain code language STATEMENT 15 written a5 THMEMETATS, In the sarme code Language, how is
EEAUTIFUL written”

Options:

1. ®¥ TIBEAUFIL
> ® FUULEEATITI
3 % [FULEEATI
4 %  LUFITUAEE

Question Number : 141 Question 1d : 5799656040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Gay eres” STATEMENT &0 TNEMETATS €9 orarcd. €98 eriyed” BEAUTIFUL &0 e orecd?

Options:

1. ¥ TIBEAUFIL
= ® FUULEEATITI
3. ® [FULEEATI
4 %  LUFITUAEE

Question Number : 142 Question 1d : 5799656041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Inn a certain code language FLOWER 15 written as GOPEFS. [ the same code language, how 15 ROSE written?

Options:
1. % SPTF

2. % SCRE



3. ¥ SEOR
4. % EROS

Question Number : 142 Question Id : 5799656041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
208 O ares” FLOWER &0 GOPXFES €92 Trar. e99 2°ed” ROSE 2 Jer orrd?

Options:

1. ¥ SPTF
2. ® SCORE
3. % SECR
4. % EROS

Question Number : 143 Question Id : 5799656042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Inn a certain code language PENCIL 15 writterl as CDMEHE. In the sarme code language, how 15 WRITE written?

Options:

1. % RWTEI
Z % DSHOV
3. ¥ YVOHSD
4. % TEIRW

Question Number : 143 Question Id : 5799656042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
208 o) 2033’ PENCIL &0 ODMBHK €92 oerc. 098 2es” WRITE D 200 ord

Options:

1. % RWTEI
Z % DISHOQV
3. ¥ YOHSD
4. % TEIRW

Question Number : 144 Question Id : 5799656043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Ir1 & certain code language, 'eraser 15 called "hox’, "hox’ 15 called “pencil’, 'pencil’ is called 'sharpener, and
‘sharpener’ 15 called bag’. What will the chuld write with?

Options:

1. %  bag

=z % eraser

2. %  sharpener
4. % box

Question Number : 144 Question Id : 5799656043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33



2,8 2raned” ‘eraser, 20 'box’ esoerd. "box & “pencil’ escerd. ‘pencil’ &0 sharpener’ esotrcd.
‘sharpener’ &0 'bag’ ©d e, DVTE BT T°FC7?

Options:

1. % bag

2 % eraser

. ¥  sharpener
4 % pox

Question Number : 145 Question Id : 5799656044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Ir1 & certain code language, 'orange’ is called butter’, 'butter’ 15 called "'soap’, 'scap’ 15 called "inl’, "ink’ 15 callad
‘horey’, and honey’ 15 called ‘orange’, what do we use to tale bath

Options:

1. ® crange
2. % soap
3. % putter
4 ¥ ink

Question Number : 145 Question Id : 5799656044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

2,8 2raed” ‘orange’ &0 'butter’ ead), ‘butter’ & 'soap’ e9d), 'soap’ & 'ink’ e, 'ink’ 20 ‘honey’ ead,
‘honey’ D “orange’ e, 2enFrd. J7)do BIF 3?

Options:

1. ® crange

2. % soap

3. % butter

4. ¥ ink

Question Number : 146 Question Id : 5799656045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
SCap 15 related to wash, in the same way knife is5 related to .

Options:

1. %  clean
> cut
3. v cook
4 % eat

Question Number : 146 Question Id : 5799656045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
soap £ wash & Loexoco &9\ & knife £ B Poerocio Sod

Options:
1. %  (lean



o ® cut
=¥ cook

4 % eat

Question Number : 147 Question 1d : 5799656046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ood 15 related to bad, in the same way big 15 related to

Options:

1. % area

2. ¥ small
3. % size

4 # large

Question Number : 147 Question Id : 5799656046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
good £ bad & Loexotio &) & big 3 DT oo

Options:

1. * area

2. ¥ small
3. ® gize

4. % large

Question Number : 148 Question 1d : 5799656047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Mill: 15 related to white, in the same way sky 15 related to

Options:
1. % blue

2 % clouds
%% milk

4 % stars

Question Number : 148 Question Id : 5799656047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
milk £ white & Doexocio €9y 8 sky 8 BIF Dowocso

Options:
1. % blue

2 % clouds
=% milk

4 * stars

Question Number : 149 Question 1d : 5799656048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
ey 15 related o rrille, in the same way hern is related o



Options:

1. % bird
2. % wings
3 % flv
4 ¥  eggs

Question Number : 149 Question 1d : 5799656048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

cow £ milk & @oeioco. Hen £ a2 oeodo ?

Options:

1. % pird
2. % wings
3 % flv

4 v  eggs

Question Number : 150 Question Id : 5799656049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Floweer 15 related to petals, in the same way ook 15 related 1o

Options:

1. ¥ reading
2. % printing
=, ¥ pages
4. #® library

Question Number : 150 Question Id : 5799656049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

flower £ petals & Doeroco. Book £ &2 Hoexodo
Options:

1. ® reading

2. % printing

= ¥ pages

4. % library



